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- NB _ (% Attempt total ﬂVG (05) questlcns

= 'Q;m ‘;-_,.;_@M.,_. “T‘ C @m_

We|ght '_6,4."_7_':1 53 677 (65 |68 [77 |57 |86 |61 |76 |68
r 'Hézi,d,ﬁt'-":' 67|69 |49 |62 |51 |60 |55 |48 42 |61 |57
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(3 Hours)

2). All-questions carry.equal marks.

3) Question’numberi0l fs. compu]aory
“Appropriaté stafistical tables can be. used

' {5)"Non: F’regrarnmable Scientific

}cuuator can, be used + ool 0
) pes-zol) C@o QMHSHC_O)
(a) Find mean devlation abnut Mean and Median forthe followmg data:

mean devnat:on

]
Y

100, 160, 200, 250, 360, 490; 500, 600, 671, Also calelate, coefficient of (t?amevft! 1 )
= s

{b). In four ICDS p.alects 20% of children fewer than- 6 years of age were
~ found to be severeiy maincurished, i.e. in grades il & V. If anly 4 children
. were selected at random from of four projects, what is the probabthty of 4,
3 2, 1 and 0 being sevsre'y malnourished? :
‘ 05

(c; Fit the curve y = CIJC {o the followmg data:
R 510 - HBoge 95 3Bk A5
y 276 31? 3.44 3.64 381 3.95 4.07

(d) The Na’uor*al heaith and nutrition survey of 1976- BO’A» ) four‘d that the
i mean serwn choieste ol ! evej for UE males aged 20- ?4 years was 211, The
SD was apprommauely Qb COﬂ:idET the sampling dlﬁtrubutlon of samp le mean
7' - based. on samples of size 50 drawn from this population of md!es ‘What is the
 ‘mean and standard error of tbe samp!mg distribution? Ek 05
_ 'Q 02‘ S ,
i (a) State centrai 1|mst thearem and hence fmd the pmbablllty that the cranial
' iength wﬂl have a mean grearer Lhan 130 mm where: the crariial length in a
' random sample of - size- 10 from IhiS popula’uon is aPproximately normally
i drstﬂbuted with & mean of 185 6 mm and a SD of 12.7 mm‘?’ 06
; .(b) A random sample of 16 obser\ratlons drawn from a normai populatmn showed
~amean of 41.5 inch and the sum of squares of deviations from thas mean
s equal tc 135 sq mches Show that the’ assumptlon ofa mean of 43.5inches for
the populatlon is not reasonanie Obtain- 95%, 99% conﬂdenue interval for the

"‘same &/ SEE el

c) The: followmg tabie shows *he wemhts Xq 10 the neai‘est pound (!b) t‘ne :
: helghts Xz to the: nearest mrh (iny; and the ages Xi tothe nearest years of 12

=:?.4boys




“smokers: Each subject in a taridom mp
- therextent to which he or sheagréed - with: h
to qurt smekrng" the results was as follow:-s

ZOO as'asked to |ndrcate_‘

ReSponse 8”""9'5’ 39““-8 -Agr_ee*; Drsagree "s"t,,rdnglyfd'i_s'.'agr"‘eje;
Nt.mbe_r_ i - - P ;
Responding: - 102 Aied e 60 .

Can one conciude on the basre of these data |n the sampled populatron e
op'i‘nions are no_t.eq_ua ly dlstrrbu’red ever the fcur levele of agreement by '

BALOS? B L Qoo

(b) harcorer»s j isa drsease rnvolvrng drsturbances of the eleep wake cycle .

Members ~ of the German mrgrame heaclacl‘e Socrety aIUQIEd the |
relat lOnahip ‘between  migraine headaches in" 96 Sub]euts dragnosecl,

with nar.celepsy and 96 healt hy centrols The results are snewn in-the -
falioy ’v‘mg\ W mSh to ;cnow rfwe may cenclude on he basrs of"

these oa’a tl.at the narcolepsy populatren ano hearrhy p:)pulatlens '

represented by the samples are "mt homogeneous wrl l\mgrarne

frequencs,bya%LOS? ey e e .aa-
Malar '-'l_.",-ReDO['ISCi qurarnel';”'_

s Narc:olep'tic-v
> :- S

s healthy C_
Total

(c) The general appearance score of 10 mentally re’farded grrls are gwen Eee

"subjects were adult - -

] statement \Nould you lrke_ i

follows:

Gl W | Beore | - v JBliE 1599-"?'5-- e
£ 8 2
I 18" 5

(5 9 ""3' :

= LOS 5%7

- We: wrsh to know rf we. may conclude that th‘

from whrch we aosume th|° sa p & to have'bee_ dr wn rs drﬁerent frorn 5 by

_‘ed a" 'score of the populatron 2




- FGI9=324.

Bfgskoj‘tshcb

B e Coaie e
0 e 2 B
L P i R 12
-'B e 6 16
G 8 151
Total 45 50600 60 65 - Grand To‘ta. 220

Gwen that the fabuiaied vaiue of the statistics at 005 LOb is equ’%i io

06

(b) The followmg; ml‘aibumm values were obtamed from 17 ncuma! and
13 hospitalize subjects = y 4 :
Normal subiects Ll e Wdody - 3.2 25
T 3839 34 45 CHE 40 35
._-Hospltailzed subjects 1 200034 BT 240 ?:_-3.1 '1‘.3 1.5
: S 820 ) Bl OGS '
e \Nnuid ycu !k.e to. conclude atthe 0.05 level of significance that the
© .. medians of th 'a‘nopulations aré different Use Yates Cofrection? 03
L ie) . :Tne,"regi;nj@ s at 120 weeks for Pl Nalve Expenenced Subjects of

.- faking indina i ‘-fonaw ie gwen in the fo[lowmg table = 08
[ e Remamed in_the. Bemmen for 120 Wﬂeks
S Expenenced : : |
R

‘._we may conclude that patients ciassmed as G- have a
'~;:IoWer pmbabl!uty of remalnmg on the regimen for 120 weeks than of G-1i?

; ”?Gwenb—1ForA-12 B=9,a= 8 LOS5% R

0-05 e

e -:3._§We wrsh to khﬁ

i:(a) The WEIthS Df 9 obsesswe womens before and. after a9 12 week VL.CD
‘-.treatment are: shown as follows: . iy o

.-_;Before Treatment 1173 111 4 oss 1043 105.4 1004 81.7- 895 78.2
' *.:,jAﬁerTreatment 8‘13 859 758 82.9 '82.3 777 627 69.0 63.9

DCO) these data lndicate that the we1ght loss treatment VLCD i |s effectwe by 5%
- SR : .
120 :!n a. study ; ‘I-’obesmj the followmg results were ob’samed from

Y. :—_samp!es of ~‘malés and females between the ages of 20 & 75:

f:_-'_-z.f:i_;-;"Sex size of sample ‘number of observatmns overwelght : 06
S Males 500 e
- .'-.j'FemaIes 200 0 48

- .A.: rmm thaca data’that in tha' camnled nnnnlahonq there




i _usmg one way ANOVA Tabla '(Take 10 as th'

- 006

: ‘.(b) A physv::al theraplst w;shed to compare th‘ "e method

There'are thfae majn brands of & certaln powde Ahat of its 120"

i ‘Brand A '

IH 18 48"

e Is thers any sugnlf‘ icant. dlffer enice in brahd

given values in your WOrkmg)‘- ivén

7 ta) Fit 4 curve é;ftﬁetype e

i 2
P L 099 & o e
~(b) Suppose’ that the - ages: at tnme ef anset of “a: renaln disease are_'
apprommately normally dlstrlbuted with'a mean of 11 5 years and a SD o

years. A.chi ld has'just come down wtth'th'*d!sease Flnd the plDbabailt‘j that'- e
: the chfd is: - : i g .

3. Between the ageaofﬁﬁto 145years‘
b.. Over 10 years ofage s 5
Under 12

9]

e L 06 '
(c) Suppose that a populatlon cnnsasts oftha folfowng values 1 5 7,8, R
. Construct the sampling dastrabuuon of means based or the sampl° size of fwa. -

~ selected with replacement and with nt re ggveg. md ihe :
'maan and veriance of the same e 08

Q-07

—r

- (a)The f:)ilowmg aje lntraocuiar pressure (mm Hg) VaiL4Ps racorded for ol

sample . of 21 elderly subjects:- 14.5, 12.9, 14,0, 18.1, 12.0,17.5,-12.9;
179 12.0, 164, 24.2, 12.2,.14.4; 7.0, 10'0,,|85,' .1.08 16.2, 4.9,

196, 14.4. Can we conclude by 1% LOS that i:opulat:on mean is é.eat‘err :
than 147 :

) teachmg patxnnts ta-J .
e, cf !earnmg wouid be dnferent :

Use a certain prosthetic device. He felt that fh, .

for patlenzs of different ages and wsshed to" de gn 'n' expenmewt in. W hlch oo

mfuence of age could be taken intd accaunt L

-TIME EN DAYS REOU]RED TO LEARN THE USE-Q
TEACH!NG METHOD

F PROSTEI IC: DEVICE

AGE GROUP ' SO -.‘C-‘, "TOTAL
Under 20 7 o g nl g
- 204029 ' gl P
0038 L g e 12,30
‘A0to4e L, g 9 , !
=80 and Over . 11 ,12:-‘: . 7
Uslng |wo Way ANOVA Determme whether all treatm nf_eﬁects drB equa[ or
. not? 2 :

. @8-

(o ) Defne the fol]owmg terms in detall show plctures wherever requxred
1. Type1 and Type | errors ' : :

*2. Level of Sggn:f icance &Cntqcaf Region e

A r_;.l

" ¢ ¢ I1s:examined and found tg' bs alldcated amohg four group's A, B C D and
: .‘lbrandsi !1 III as shawn ha ;un%e‘_._. : iy

= A !




